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a(t) = Q(t) +e(t)
q(t) =Q(t) +e(t) 21 /Q e(t)
Q(t) Q(t) Q(t)

U(Q)
U (Q) = Ugrav (Q) +Uy, (Q)

152

a?

Ugrav (Q) Uav (Q )

(5.21)

1991 § 30



Zgl < aZZQ 2

Uy Q)= - mgl cosQ
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5.11 m5_6_sitensindou2.wm
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N (5.24a)

x
my:-mz-kyy (5.24b)
iy
M= - w’x (5.25a)
V= - w2y (5.25b)
k
T
m m
x = Acos(w,t +a) (5.26a)
y = Bcosw,t +b) (5.26b)
A B a B Xy
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W/ Wy
551 w,/wy=1
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2AB cos(a - b) 0

tan29 = N B
(5.28)
Working Model 2D

m5_5_lissajousl.wm( 5.12) m 1 kg
Force Field
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I Fo=-kx =-2x

i _ _

iE=-ky=-y
W, /w, =2
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(vx0 , vy0)

(x.y)

(4,0) [(?525,?5?5)]
(0, 4) [(? 10? 10, ? 10? 10)]

Force field

X: -1*4*body[1].p.x
y: -1*4*body[1].p.x

x: 1*4*body[1].p.x
y: -1*1*body[1].p.x

x: 1*9*body[1].p.x
y: -1*4*body[1].p.x

x: 1*2*body[1].p.x
y: -1*1*body[1].p.x

Air None
Resistance

Vi ok Mookl 0 - [mf Slissiousion] e
B Eike Edi Wogd  Uiew Dbgect [lefine  Hesswe Geipl divedos  Help 2

[ GEI 1'&]3] EJT' Wﬂlﬁlﬂ'_ﬁl Run e | 540 p 0| Rt

O g L = Poadion of Cicla 1 i

f= o o) I\ f

= MAMAAAAAAAAANY NWJWU“U ULW ;

A.000 1200 J0m JR0m J. W0 A4.000 S2000 B0 D B2 00 TEL |:] H
i ' ' '
il 5 5 5
- : et |

=0 i s H s
=] S el e "‘"""H-r_: IIIIIIIII bl B el i Sl il T """:
o S % -
%E ; Circke 1 -Fosiion ot =il s ke 1 tcty |
e [l - | i
8wl
L B :

&|=]|% ™

£l R R T Y R N N A AV A A VA VA VAVAVAVAVAVAVAVAS :

gl il 4000 12.000 211 00 220 JEOIN A4.0001 52 01 EL 00 E8.000 FE| [af H

—— S S S

ALIO0 AZO00 400l a0 £.000 -4.000 -2 000 a0 . 4000 ] 2.0 000 12000 14000
A0 m o 0T m
EE T e |
[Gravity ()] None
5.12 m5_5_lissajous3.wm

158




5.6 )

5.6.1
5.13 A B
A ( K A B
A B Xa Xg
X =-kxa - k€xq - %)
X = k€x, - Xg)

Xa (t) = Acos(Wm +a), xs(t)=Bcosimt ta) A B w a
(5.30a) (5.30b)
(W’ - k- KOA+KkB=0
k® +W?- kOB =0

A B
B=0
=0
=W - k- kW - k¢- k€ =0
W2
w2 = KE2ke VI + 4k€
2
? w3 W5
(5.31b)
B_ k+ VK + 4kE
A 2k¢
w? ? Wi B/A rh rn
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I Xa(t)= Acosivt +a,) I Xa(t) = Acos(w,t +a,)
% Xg(t) =nA cosivit +a,) % Xg (t) =r.Ap cosfv t +a )
(5.31a) (5.31b) W W,
W, rn>0
r,<o0

} X, (t) = A cosfr,t+a,) +A cosfh t+a,)
T xg(t) = nA cosW,t +a )+ r,A cosW,t +a,)

A.Aaqa,
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m5 6 rensei2.wm

1

2

160




Springl constant = 40 [1? 100 ]
Spring2 constant = 120 [ 17 200]
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Xa (t) = Acos(Wt + &), Xs(t) =Bcost +a)

(5.31b)
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5.7 ®

m5_6_rensei-

5.15

5.15

163



M =1 [kg]

}MWL 2ky

I kW
fid'=-=—=q
I I:|\/|W2
12
0
2k
- <K 0 =
Yy Wy M W;
m5_7_bridgel.wm 5.16
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Wy
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5.17 m5_7_bridge2.wm
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B] Eile Edit World | View Object Define Messure Script

5.12 m5_8 molecule.wm
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5.9 Q)]

§55

Working Model 2D

5.9.1
m5_9_yokonami.wm
m5_9 tatenami.wm
5.13 m5_9 yokonami.wm m5_9 tatenami.wm
m5_9 yokonami.wm m5_9 tatenami.wm
Spring constant = 200 [ 0.5? | Spring constant = 50 [ 0.5?
1000] 1000]
Mass =5.0[ 0?7 100 ]| Mass = 0.031[ 0?
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Air Resistance None
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5.20 m5_9_yokonami.wm

5.9.2
m5 9 kanshol.wm m5_ 9 kansho2.wm
kanshol kansho2
5.14 m5_9 kanshol.wm m5_9 kansho2.wm
m5 9 kanshol.wm m5 9 kansho2.wm
Spring constant = 200 [ 0.5? 1000]
Mass =5.0[0? 100]
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5.21 m5_9 kansho2.wm

5.9.3
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m5_9 hanshal.wm
m5_9 hansha2.wm
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Y1 Yoo Y1 =0
Yo- Y1 0 Yo- Y1 =0
Yo Yo=0
( Yo=0
5.15 m5_9 hanshal.wm m5_9 hansha2.wm

m5_9 hanshal.wm m5_9 hansha2.wm
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5.22 m5_9 hanshal.wm
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m5_9 kyoukai2.wm
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5.23 (m5_9_kyoukail.wm)
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m5 9 teizaihal.wm m5 9 teizaiha2.wm
6 cosQ t [N/m]

Actuator

m5_9 teizaihal.wm
m5_9 teizaiha2.wm

Actuator Q
0
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5.17 m5_9 teizaihal.wm m5_9 teizaiha2.wm

m5 9 teizaihal.wm m5 9 teizaiha2.wm
Spring constant = 200 [ 0.5? 1000]
Mass =5.0 [ 0?7 100]
Actuator input[376] =1 [ 07 10]

Actuator 6*cos(input[376]*time)

Air Resistance None
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m6 3
m6_3 earth and moon .wm
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m6 5
m6_5 bound of a ball.wm
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mé6 7
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m6 9

m6_9 collision of car.wm
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m6 11
m6_11 billiards.wm
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m6 13

m6_13 pendulum of air resistancewm
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m6 15
m6_15 joint pendulum.wm
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